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Unit 4 Economics Study Guide- Answers
1. What is the European Union?

An economic and political union of 27 member countries across Europe.

2. What are the questions that every economic system must answer?

What to produce, how to produce, and for whom to produce.
3.  This type of economy is based on customs; it is one where the people hunt and gather to survive while relying on themselves for all their needs.
Traditional economy
4. The government plays NO role in this economy; people are free to exchange goods and services without government involvement or regulations.  Any person can start a business selling or making whatever they want.  There is no promise of success, but anyone can try.

Market Economy
5. In this type of economy, the government may decide that all students’ desks should be three feet wide and two feet deep and so all desks would then be made that way.

Command Economy
6. In the United Kingdom, who decides which goods will be produced and sold? 

Private citizens and companies

7. Which country owns most of the large and important industries within its borders?

Russia
8. Which type of economy is LEAST likely to be found in Europe? Explain why.
Traditional Economy
______________________________________________________________________________
Use the line of continuum to answer number 9.


9. Which European country shown on the diagram has the LEAST free economy? Explain how you know
Russia, because it contains the most government influence.
10. Because most economies have characteristics of the command economy and the market economy, we say they are

Mixed
11. In which country would it be most difficult for a person to start a business?? Explain why.
Cuba, because the government makes the economic decisions. 

12. In which country do buyers and sellers usually come to agreement on prices in order to trade?

13. Why would make the United Kingdom a more desirable place to start a business than Russia? 

There is less government control in the UK because it is a mixed economy, and people are free to start whatever business they want. 
14. Which type of trade barrier involves a limit on goods brought into the country? How is the good for an economy? How is it bad for an economy?
Quota
15. In order to help Russian farmers sell more food, some people want to put a tax on the food imported from other countries. This is an example of a(n)

Tariff
16. What might make an embargo against a country successful?

If it causes the political leader of that country to step down.
17. What is the currency people in much of the EU called? Euro
18. What is the currency in Russia called? Ruble
19. What is a problem with exchanging currency? Not all money is worth the same or has the same value. 
20. Give two examples is an example of investing in human capital.
Education, training, etc (there are multiple answers)
21. A country that does not invest in human capital will have problems because

Workers will not be as productive.
22. What is human capital?

Investing in the education, training and health of the workforce.
23. Give an example of investing in physical capital by a company.
Buying new machinery, computers, etc (there are multiple answers)
24. The Soviet Union did not invest in capital improvements, so Russian workers today

Work in factories that need updating and are not as productive.
25. Give 5 examples of a natural resource.
Oil, diamonds, timber, copper, coal, etc (there are multiple answers)

26. What natural resources have helped the Russian economy in the 21st century?
Russia was the world's largest exporter of natural gas, the second largest exporter of oil, and the third largest exporter of steel and primary aluminum
27. Why is a country better off if it does not have to import natural resources? Give an example.
It is costly to import resources, therefore a country that does not import 
28. Give an example of an entrepreneur.
An entrepreneur is anyone who takes a risk to start a business (answers will vary).
29. What is a problem faced by entrepreneurs is Russia?

It takes a long time to start a business (months, not days) due to government involvement in the economy.
30. What is a way that entrepreneurs help increase a country’s GDP?

Hire more workers, lessens unemployment.
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